[011],, 70, /[001], 6, ;twin plan = (011)

Fig. 4-24 50T =5 1 1500°C /6hr/Ar#: id® 18 2_ (a)m—Z10: ~ t-Zr0:27 o -Ti
£ 93 2 P AR TP % (BFD);(b)m-Zr0: 2. EDS & 47 % ## ;(c)m-Zr0: 2.
SADP, Z. A. = [Oll]m—2r02 //[001]t—ZrOZ ;twin - plane=(011) ;(d)m-Zr0. =
SADP, Z. A.=[011] -
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Fig. 4-25 50T /5% 1400°C /6hr/Ar#: ed® 18 2. (a)Ti02 m—Zr0:F* 4R
25 B 15(BFI); (b)Ti02 EDSA 47 % 3% ; (c)Ti02 SADP, Z. A. =[011]; (d)
Ti02 SADP, Z. A.=[110] -

68



(b)

400 ] Ti
350 i
300 ]
250 ]
200 ]
150 ]

10040
1 zr Ti
50 Zr
1 }\ Zr
o4 " N

T T T T T T T 1
0 5000 10000 15000 20000

energy(eV)

[011],twin plan={111}

Fig. 4-26 50T & 1F 1300°C /6hr/Ar # k22 {3 (a)Ti0 2. PP AL TF B2 1k
(BFI);(b)Ti0 2. EDS %~ #7 k3% ; (c)Ti0 2= SADP, Z. A. =[ 001 ];(d) TiO
2. SADP, Z. A. =[011], twin plane={111}
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Fig. 4-27 50T %538 1300°C /6hr/Ar# 2 1 (a)Ti0£ t-Zr0z a2 P
AT e (BFD);(b) t-Zr0:x 2 EDS A 47 % # ;(c)t-Zr0:x 2
SADP, Z. A. =[111] -
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Fig. 4-28 50T %’5:iE 1300°C /6hr/Ar #: 2 {8 (a)Ti0 & B % Fl2- gt
g 2 PAL T R o (BFD); (D)Ti0 2 EDS 4 47 % 3# ;(c)Ti0 =
SADP, Z. A.=[011];(d)Ti0 2= SADP, Z. A. =[001] -
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Fig. 4-29 50T %% 1300°C /6hr/Ar #t e {5 (a)Ti0 B &H &2 2 % F
B3 Ap 2 PRI R (BFD;(b)Ti0 2 EDS A 45 3% ;(c)Ti0 =
SADP, Z. A. =[011], twin plane={111};(d) TiO z SADP, Z. A.=[001] -
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Fig. 4-30 5T fie i 1500°C /6hr/Ar AT 15 (a)c-Zr0wz. po AL T B i
(BFI);(b) c-Zr0:2_EDS4 7 k3 :(c) c-Zr0:«2_SADP, Z. A. =[011] -
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